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2AM: 2MNIS
. HYE2ITH(FAMIS)
el ol 29| (Stel- & 3)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol & @;OH Hns
ol 2| 9,000 9,000 0
ol 2| 9,000 9,000 0
203 HRF=ZXY| 9,000 9,000 0
01 JI22g9YRF=&| 6,000 6,000 0
OsS & (o132 32t 0JeH) 6,000
04 RENSIYERFEH 3,000 3,000 0
O&3 1521 0|at 250,000& x12& 3,000
Jl23dl 46,680 35,593 11,087
JleZdl 46,680 35,593 11,087
201 B9y 22,680 11,593 11,087
01 AtR22ld] 11,920 10,993 927
OgtZH| 8,900
o2d9+¢ 500
OZ &l 7,000 *3A *10H = 12& 2,520
02 =32ZH| 10,760 600 10,160
O2222 % HA 10,760
202 O4Hl 24,000 24,000 0
01 =2UWdHI 24,000 24,000 0
Ol 200,000& x10H = 12& 24,000




